Alcoa =
Fastening  ~-2
Systems

2|2
Sl Ol

TANGLESS © Inserts

Bi-directional wire
thread inserts
and tooling

E) SO0 806 63 P 8 G 5 (2 %COILG

QUALITY THREAD INSERT SYSTEMS



Tangless® Inserts:

N NﬂSMEBdE NAS 1130 Q1=
B nsertS] Ax|(AF2]) A|ZHO| OIS W20, B4 &7 ZIAF 2X0| e S0 ¢S w=L|ch
B CUHES| MX|(&)7F .5l 712 §l0o] LIS BF 7150l BiEr 2010 AR K= A7 &0

|O|E{(mm) 72| &i2|A 2IME= Stainless steel wire(304 : AS7245, MA1565)&

2t A WAl o2 M| olH, YUERTEE 200,000 psi Olat, 238 A 43-508 7822 ALt =Lt
CIMELE= 7|E2| eiT e XE(Tanged helical coil insert)2 A& 4= USL|C}

£ S0 MA3279E MA3281 2 (standard thread), MA33292 MA3331Z(locking thread), 21x| 22| MS120762
MS124690 S = OiX| & & USLICY

EHZ|A CLUMEE= 2|3 Y ABHCIE STI BHO|Lt MA1567, MIL—I—8846 14 713 =0 AFE St

LSt 421 2IME= FED-STD—HZ28, M Profile, 4H or 5H, I1ISO metric thread specification, MJ Profile 4=

Recoil Thread Insert Part Numbering System

Recoil insert product part numbering system uses a logically structured 5 digit basic part number. Suffixes are typically
added to differentiate between special or non-standard features. This guide defines the structure of Recoil part
numbers and may be used for reference to identify a Recoil insert from its part number.

*Refer to Recoil Technical Catalogue for taps and gauges information.

Diagram of Recoil Insert Part Number Example

T L O 5 0 8 2 A G

Special Suffixes
_Fifth Diait = Lenath AG = Silver plated
Tangless Lnlengthl?rlw Uzeng C = Cadmium plated
e D = Dry film lubrication
First Digit = Product Group 2=1D SF = Strip Feed
0 = Inserts Bulk - Free Running 3=15D
1 = Inserts Bulk - Self Locking 4 = 2D
5=25D
=3
Second Digit = Thread Type— — Third and Fourth Digit = Thread Diameter
g = 0=sizein 1/16"s (ie 08 = 1/2")
4 = UNF 1 =sizein 1/16" (ie 08 = 1/2")
5 = METRIC Coarse 2=sizein 1/16"s (ie 08 = 1/2")

3=sizein 1/16"s (ie 08 =1/2")
4 =sizein 1/16"s (ie 08 =1/2")
5=sizein Tmm’s (ie 08 =8mm)
6=sizein 1/16"s (ie 08 =1/2")
/=sizein Tmm’s (ie 08 =8mm)
8=sizein Tmm’s (ie 08 =8mm)

2| DU Bie|A UHES] MIUES ASSH=E S Strip—Feed InsertE AK2 SIAIH S =5 2P A0t
sEs 249 =+ AUSLICL
Eot 39| TRt Y He ehyE Sall B7F B0l T2 7IHE & A YLICH (M8 #3 M2.5 ~ M10, #2~1/4).

Strip—Feed Insert = XSS HHEF or H7|8F)0l| ZHEtE HMS22 RECOIL AtF S22 & ALSE S A

Strip—Feed Insert= 21219] Insert?} feeder(B2] &f2 S2tAE IHE)O S &2 &[0 RUSLICH

0| Strip—Feed & IJ.:E——?L“I FEAO| 2O 22X Insert’t M=s3+12 A30l| =0|A =2 ojuf &+t 2] HHE &

270l InsertE &flot= 2hA] |ILICE SHL] Insert7t &Y &I Feeder 8 22 O 2 X CFF Insert 71 & E:' = S
O|FH z|ate| BHCE HYETE TH it AlE + UsLCh

—cu




METRIC Tangless Series

Recoil KATO (ADVANEX)
Thread Nominal Part Number Free Coil Dia Number  Length Part Number
Nominal Length Free Running Locking Min/Max.  of Coils [RE%] Free Running Locking
1 TLO5252 TL15252 3375 2 2TNM2.5x.45C-2.5 2TLM2.5%x45C-2.5
1.5 TLO5253 TL15253 3.20 o 6 P 3.75 2TNM2.5x.45C-3.8 2TLM2.5x45C-3.8
M2.5x 045 2 TLO5254 TL15254 3.70 8 5 2TNM2.5x.45C-5 2TLM2.5x45C-5
255 TLO5255 TL15255 10.5 6.25 2TNM2.5x.45C-6.3 2TLM2.5%x.45C-6.3
3 TLO5056 TL15256 12.750 7.5 2TNM2.5x.45C-7.5 2TLM2.5x45C-7.5
{TEIEET S e A TS LTl 3 2TNM3x.5C-3 2TLM3x0.5C-3
L5 TLO5033 TL15033 3.80 Bals 4.5 2TNM3x.5C-4.5 2TLM3x0.5C-4.5
M3 x0.5 2 TLO5034 TL15034 435 HaT5 6 2TNM3x.5C-6 2TLM3x0.5C-6
2 TLO5035 TL15035 1 = Rl 2TINM3x.5C-7.5 2TLM3x0.5C-7.5
3 TLO5036 TL15036 1387 9.0 2TNM3x.5C-9 2TLM3x0.5C-9
1 TLO5042 TL15042 3.625 4 2TNM4x.7C-4 2TLM4x0.7C-4
1.5 TLO5043 TL15043 2.00 6.125 6 2TNM4x.7C-6 2TLM4x0.7C-6
M4 x 0.7 2 TLO5044 TL15044 5.60 8.625 8 2TNM4x.7C-8 2TLM4x0.7C-8
25 TLO5045 TL15045 11.125 10 2TNM4x.7C-10 2TLM4x0.7C-10
3 TLO5046 TL15046 13.625 12 2TNM4x.7C-12 2TLM4x0.7C-12
1 e e T 4.125 5 2TNM5x.8C-5 2TLM5x0.8C-5
IS TEESOS T 56053 6.20 6.875 i 2TNM5x.8C-7.5 2TLM -5x.8C-7.5
M5 x 0.8 & TLO5054 TL15054 6.80 9.625 10 2TNM5x.8C-10 2TLM5x0.8C-10
25 i Bl o R (14 e 2 = | F A [ e 2TLM5x0.8C-12.5
3 TEASOSESS S 6 [ |/ 2TNM5x.8C-5 2TLM5x0.8C-15
1 TLO5062 TL15062 4.00 6 2TNM6x1C-6 2TLM6ex1C-6
5 TLO5063 TL15063 /.40 6.75 9 2TNM6x1C-9 2TLM6x1C-9
M6 x 1 2 TLO5064 TL15064 7.95 9.50 12 2TNM6X1C-12 2TLM6X1C-12
2 TLO5065 TL15065 12.125 15 2TNM6X1C-15 2TLM6X1C-15
3 TLO5066 TL15066 14875 18 2TNM6Xx1C-18 2TLM6X1C-18
1 TLO5082 TL15082 4.500 10 2TNM8x1.25C-8 2TLM8x1.25C-8
i TLO5083 TL15083 9.80 FUE TS 12 2TNM8x1.25C-12 2TLMBx].25C-12
M8 x 1.25 2 TLO5084 TL15084 L2 10.250 16 2TNM8x1.25C-16 2TLM8x1.25C-16
2 TLO5085 TL15085 1% 250 18 2TNM8x1.25C-20 2TLM8x1.25C-20
> TLO5086 TL15086 &1 25 20 2TNM8x1.25C-24 2TLM8x1.25C-24
1 TLO5102 TL15102 49 10 2TNM10x1.5C-10 2TLM10x1.5C-10
I3 TLO5103 TL15103  11.95 8.000 15 2TNM10x1.5C-15 2TLM10x1.5C-15
M10x 1.5 2 TLO5104 TL15104 12.50 11.1 20 2TNM10x1.5C-20 2TLM10x1.5C-20
25 TLO5105 TL15105 14.250 25 2TNM10x1.5C-25 2TLM10x1.5C-25
3 TLO5106 TL15106 L is 30 2TNM10x1.5C-30 2TLM10x1.5C-30
Free-Running Inserts Self-Locking Inserts
INSERT INSERT
FREE OUTER DIAMETER DRIVING NOTCH FREE OUTER DIAMETER 1—— DRIVING NOTCH
| G . . AP ,
i +
il |
Tt | | R ot |—i NUME;ElFl OF FREE GOILS
INSERT /" NUMBER OF FREE COILS e s

Material: Type 304 Stainless steel per MA1565 and AS7245
surface Texture: ASNI B46.1.




INCH Tangless Series

Thread Nominal Part Numlﬁ::':ml Free Coil Dia Number
Nominal Length Free Running Locking Min/Max. of Coils
] TLO3522 TL13522 3.00
#2-56 1.5 TL03523 TL13523 110 5.25
(.086-56) 2 TLO3524 TL13524 119 f3I5
25 TLO3525 TL13525 9.625
3 TLO3526 TL13526 11.875
] TLO3542 TL13542 PaTaT
#4-40 15 TLO3543 TL13543 144 4.75
(.112-40) 2 TLO3544 TL13544 159 6.75
2 TLO3545 TL13545 8.875
3 TLO3546 TL13546 10.875
1 TLO3562 TL13562 2.750
#6-32 1.5 TLO3563 TL13563 J1/8 4.750
(.138-32) 2 TLO3564 TL13564 193 6.875
2.5 TLO3565 TL13565 8.875
3 TLO3566 TL13566 10.750
1 TLO3582 TL13582 3.500
#8-32 15 TLO3583 TL13583 S 6.000
(.164-32) 2 TLO3584 TL13584 e S35
25 TLO3585 TL13585 10.750
s TLO3586 TL13586 15250
] TLO3602 TL13602 2.875
#10-24 1.5 TLO3603 TL13603 244 5.000
(.190-24) 2 TLO3604 TL13604 259 7.125
2.5 TLO3605 TL13605 9.250
5 TLO3606 TL13606 11.375
] TLO3042 TL13042 A8
#1/4-20 15 TLO3043 TL13043 Al 5.750
(.250-20) - TLO3044 TL13044 330 8.000
2 TLO3045 TL13045 | BEE e
3 TLO3046 TL13046 12550
] TLO4602 TL14602 4125
#10-32 1.5 TLO4603 TL14603 236 6.875
(.190-32) 2 TLO4604 TL14604 256 9.500
2.5 TLO4605 TL14605 12.000
3 TLO4606 TL14606 14.875
] TL04042 TL14042 5.000
#1/4-28 | s TLO4043 TL14043 Sl 2250
(.250-28) J TLO4044 TL14044 326 11.375
25 TLO4045 TL14045 14.500
5 TLO4046 TL14046 I 62
Free-Running Inserts
INSERT
FREE OUTER DIAMETER

DRIVING NOTCH

-
| F

L(EHHE?;[}h
86
129
172
215
258
i
168
224
280
336
138
207
276
345
414
164
246
328
410
492
190
285
380
475
570
250
il
500
625
/50
190
285
380
475
570
250
273
500
625
Fesid

KATO (ADVANEX)

Part Number

Free Running

2TNC-02C-0086
2TNC-02C-0129
2TNC-02C-0172
2TNC-02C-0215
2TNC-02C-0258
2TNC-04C-0112
2TNC-04C-0168
2TNC-04C-0224
2TNC-04C-0280
2TNC-04C-0336
2TNC-06C-0138
2TNC-06C-0207
2TNC-06C-0276
2 TNC-06C-0345
2TNC-06C-0414
2TNC-2C-0164
2TNC-2C-0246
Al E Al e
2TNC-2C-0410
2TNC-2C-0492
2TNC-3C-0190
2TNC-3C-0285
2TNC-3C-0380
2TNC-3C-0475
2TNC-3C-0570
2TNC-4C-0250
2TNC-4C-0375
2TNC-4C-0500
2TNC-4C-0625
2 TNC-4C-0750
2TNF-3C-0190
2TNF-3C-0285
2TNF-3C-0380
2INF-3C-0475
2TNF-3C-0570
2TNF-4C-0250
2TNF-4C-0375
2TNF-4C-0500
2TNF-4C-0625
2TNF-4C-0750

Self-Locking Inserts

INSERT
DRIVING NOTCH

NE

|

=|

NUMBER OF FREE COILS

Locking

2LNC-02C-0086
2LNC-02C-0129
2TLC-02C-0172
2TLC-02C-0215
2TLC-02C-0258
21LC-04C-0112
2TLC-04C-0168
2TLC-04C-0224
2TLC-04C-0280
21LC-04C-0336
2TLC-06C-0138
2TLC-06C-0207
2TLC-06C-0276
21LC-06C-0345
2TLC-06C-0414
2TLC-2C-0164
2TLC-2C-0246
2= A58
2TLC-2C-0410
2TLC-2C-0492
2TLC-3C-0190
21LC-3C-0285
ZILC-3C-0480
2TLC-3C-0475
2TLC-3C-0570
2TNC-4C-0250
2TNC-4C-0375
2TNC-4C-0500
2TNC-4C-0625
2INC-4C-0/750
2TNF-3C-0190
2TNF-3C-0285
2TNF-3C-0380
21NF-3C-0475
2TNF-3C-0570
2TLF-4C-0250
2TLF-4C-0375
21LF-4C-0500
I
2TLF-4C-0750

INSERT

FREE QOUTER DIAMETER :— DRIVING NOTCH
Y

Material: Type 304 Stainless steel per MA1565 and AS7245
Surface Texture: ASN| B46.1.




EHg| A OIME £=(Hex Shank) ¢! 232
W EHE|A ARSIl AT AMRSH 4 Ol AXQ|E i 2

EH
HMEZ20| 719 A= 272 OHEZ(mandrel)2 AR SHL|C}.

o = == sh|C}
B 212} LEARME| 2=4F Gl0| CIMES =& SL|C},
B CIMEC| ZI0|0| 2} H2{e| =0|E =& 5t A= §hL|C}
wEZ Z(Pawl) \_]

HE &Y 37 (XS E210|H) | Keyless Chuck Electric Driver

—_ =
B Ei2|A ME M B = i =10 a2 g ct,
SSEO0|LE YIXHS S0l HISH FS3| WE =g S==2 AN STt 27t Mzt 2 7|08 & A Yuict

Features

m 7|E2 M7 840 Hlel 4= XEst H|Eez2 =8 7ks L Ct

B Hex Shank® tool= &1 2| HiZ24 )&}

m AMNE 4 D 2-66 ~1/4 M25 ~ M10,

B 70 AME SH7|17F gLt

B 29| S X|(clutch)Lt 7|H(Gear)2| =Xt §l0| Xis A3|H 7|=50| U O w210 T2 L.
Metric Installation Tooling M2.5 x 0.45 M3 x 0.5 M4 x 0.7 M5 x 0.8 M6 x 1 M8 x 1.25 M10x% 1.5 M12x1.75
Free Running 2CT10-M2.51 2CT10-M3 2CT10-M4l 2CT10-M5I 2CT10-M6I 2CT10-M8I JCTI0-MI0F  2CT10-M121
Locking 2CT10-M2.5L 2CT10-M3L 2CT10-M4L 2CT10-M5L 2CT10-MeL 2CT1I0-M8L  2CT10-M10L  2CT10-M12L
Replacement Pawl 2CT20-M2.5 2CT20-M3 2CT20-M4 2CT20-M5 2CT20-M6 2CT20-M8 2CT20-M10 2CT20-M12
Metric Removal Tooling M2.5 x 0.45 M3 x 0.5 M4 x 0.7 M5 x 0.8 M6 x 1 M8 x 1.25 M'I 0x1.5 M12x1.75
Free Running 2CT30-M2.5F 2CT30-M3F 2CT30-MAF ;:- :.‘%f'--r- ASF 2CT30-M6EF 2CT30-MBF  2CT30-MI1OF  2CT30-MI12F
Locking 2CT30-M2.5L 2CT30-M3L 2CT30-MA4L CT30-M5L 2CT30-MeL 2CT30-MBL  2CT30-MI10L  2CT30-M12L
Replacement Pawl 2CT40-M2.5 2CT40-M3 2CT40-M4 2C M 0-M5 2CT40-M6 2CT40-M8 2CT40-M10 2CT40-M12
Inch Installation Tooling #2-56 #4-40 #6-32 #8-32 #10-24 #1/4-20 #10-32 #1/4-28
Free Running & Locking JKREC-02 ;;-f:re:‘.--;' 2KREC-06 2KREC-2 JKREC-3 2KREC-4 2KREF-3 .
Replacement Pawl JKIPC-02K 2KIPC-04K JKIPC-06K 2KIPC-2K 2KIPC-3K TKIPC-4K 2KIPF-3K JKIP4-4K
Inch Removal Tooling #2-56 #4-40 #6-32 #8-32 #10-24 #1/4-20 #10-32 #1/4-28
Free Running & Locking ZKRTC-02 ZKRTC-04 ZKRTC-06 ZKRTC-2 ZKRTC-3 2KRTC-4 ZKRTF-3
Replacement Pawl IKRPC-02K 2KRPC-04K JKRPC-06K 2KRPC-2K JKRPC-3K JKRPC-4K 2KRPF-3K IKRPC-02K

Metric and Unified Tooling Part Number
Electric Tool alpha-5000
Transformer SBT-50

* PLEASE NOTE - THREE SEPARATE PARTS ARE REQUIRED TO FORM A COMPLETE RECOIL ELECTRIC INSTALLATION TOOL
1. ELECTRIC TOOL
2. TRANSFORMER
3. MANDREL




Recoil.® Bringing versatility to a range of applications.
HE MY 2of

T7|, HXf 2|7| £t S0F0A] AEA L] A=
i 2 #g de(He-AE)s &l gLct
EHD| A QUM E(Tangless Insert)= =

JE2Ho =z |Ast HIE 22 A Ei(Tanlg)0| $l0| TS E

M=22 7HE2| Wire Insert HZE L|Ct

M7= X] 2ot &(Tang)2

ST, e, 3EV|A L8 S0F S
gy 2FE-E0| o SR MYEE0| HEet AE iU

Clerst xjZEle] 2|22l CIES= HEIo| Dl ZISH LIAMAME OtiE =11

=
AZe 2o SE MZA| 247t = Eload)E S4F Al7
LtAMKThread)0| OkEEl= A2 WX|SH SLICH

Contact

RECOIL TANGLESSO|| Cigh o = EE=

Bi2|A AIO|EE &alal =Al7] HiELICE

MEE BAEE =230 S3ENE =30 TEEH

L Ehir M O3 AN BB JOit b, g B8 Heimall p) B3 08T B ] - »

S BIEHES Fer Yiour Bewt Prodecisl] i R = s HOMIE - 9B 3000 ige "
Alcoa ) -
Fastening  ~~=
Systems

o3
dcA AME

TANGLESS™ Inserts
Bi-directional wire

thread inserts
and tooling

e i@ TEIE

http: //www_tangless.co.kr
(HE 4 A&, A X1&2, S84 DEMO)

Recoil Regional Distribution Centres
Australia

Clayton Business Park

1508 Centre Rd Clayton Vic 3168 Australia
PO Box 144 Mount Waverley 31490 Australia

_|_-|-
e N

Fax:
s

Singapore
Block 5, Ang Mo Kio Industrial Park 2A

#04

Singapore 567760
Singapore

Taelerbrne (ESY &TEQ 1070
elephone (65) 6759 1978

Fax
il

China (Suzhou) Sales
58 Yinsheng Road, Shengpu

Suz|
Suzl

-ul
e la

Fax:
ax.

AFS Industrial Distribution
Group Headquarters

192

India Operations

Level 6, Constantia 11
.M. Brahachari Street
Kolkata 700,017 WE India
Tel: +971 33 4400 0612
1300 363 049 Fax: +91 33 4400 0555
+613 8545 3333
1300 363 154

+613 8545 3390

Sales Australia
nternational
Sales Australia
nternational

afs.sales@alcoa.com.au

Japan/Korea Sales

Alcoa Japan Ltd.

#1013 NBF Hibiya Bldg.
Uchisaiwai-cho, Chiyoda-ku
Tokyo 100-1011

Phone: +81 3 3539 6577
3

www.recoil.com.au

15 AME Tech 2

Europe

Alcoa Fastening Systems
5t Cosme Operations

9 rue de Cressonnieres

Y SR 1 C -
(65) 6759 1582

72110 Saint Cosme en Varais, France

[el: +33 0 2.43.31.41.00
Fax: +33 0 2.43.31.41.41
wou industrial Park
wou Jiangsu 215126, China
86 512 6286 3800

o 3

86 512 6286 3810

Alcoa Fastening Systems
Kelkheim Operations
Industriestr. &

65779 Kelkheim, Germany
Tel: +49 0 6195 8050

Fax: +49 0 6195 2001

5 North MacArthur Drive

Iracy, CA 95376, USA

-ul
e la

Fax:

209 839 3000

e it o
209 839 3022

AFS Industrial Distribution
14300 Clay Terrace Blvd, Suite 250

Car

-ul
e la

Fax:

nel, IN 46032, USA
800 826 2884

800 573 2645

Telford Operations

Unit C, Stafford Park 7
Telford, Shropshire TF3, 3BQ
United Kingdom

="
=N L]

Fax:

F44 1952 2900 11
4141

1952 2404 59

] "|| I.E T

products shiown andJdor the means for s

SR

andSor

A0 2 Alcoa Fasks

dfl 'I":'\-

55, implied, o

] nserts and tools n LT

T
ifermation contained in this pullication is only for general guidance with regard to properties of the

ecting such products, and is not intended to create any warranty,
A ".-'-'I"I.I NS,
orders, It is recommended that the user secure specific, up-to-date data and infarmation

ling edach apj

statutony; all warranties are contained only in AFS's written quotation:
purchass

ation andfor use Gl such products

jing =ystermns Lod, All rights resereed. HEVT-2012 SEF TEMEBER
g a reqistered trademark of &dvanes In

ctured by Alcoa Fastening Sy

Alcoa
Fastening
Systems

Americas

Industrial Fastener Division
8001 Imperial Drive

Waco, TX 76712, USA
P.O.Box 8117

Waco, TX 76714-8117, USA
[el: 800 388 4825

Fax: 800 798 4825

Installation Tool Division
1 Corporate Drive
Kingston, NY 12401, USA
[el: BOO 278 4825

Fax: 845 334 7333

Latin America Sales
Avenida Pargue Lira
79-402 Tacubaya
Mexico C P 11850, USA
[el: 452 55 55151776

Fax: +52 55 5277 7564

Your Authorised Distributor

p Y|

(F)HE713
[2I2Y St S4]

=

CHE|]

MaA| 8+ AS35 984
ANEZFAT} 35 1265
Tel - 02 805 0530 ~ 1

02 804 7914 ~ 5
Fax . 02 893 5194
http : //www .tangless.co kr
e—Mail : sales@tangless.co.kr

2,
%coum

QUALITY THREAD INSERT SYSTEMS




	1.jpg
	2.jpg
	3.jpg
	4.jpg
	5.jpg
	6.jpg

